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TVC(c,b,ch)=( 0, 6, 14 )
X1 daocer09125
4000 = T
- 387400
p1 0.2003 + 0.0002
3000~ -1
-
2000 - -
L - 4
PP RS T
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(C'b’Ch):( 0&—(/3-'.‘”3 2uuevoelzs
= ! 3875+ 0.0
p1 0.2598 + 0.0002
g " |
50 100
7

TVC(c,b,ch)=(0, 6

’
s

p1

| Zoose+09/25
3862+ 0.0
0.1681:+ 0.0002

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 6, 11

1 2505e+09/25
™ 3883+ 0.0
p1 0.2105 + 00002

_L

1
50 100

= .a751 12 TR&gRY [ns]

TVC(c,b,ch)=( 0, 6, 15

X~ )uu;e'oe 125
= 3877+ 0.0
pl 0.2038 + 0.0002

P B

1
100

TP delay [ns]



4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3500

3000

2500

2000

TVC(c,b,ch)=(0, 7,0)

pL

Z.025¢+09125
3875+ 0.0
0.2335 £ 0.0002

50

C=

TVC(c,b,ch)=(0, 7, 4

1
100

-4281.93 TBsleRy [ns]

p1

1 Z.owser09125
3885+ 0.0
0.2075 £ 0.0002

1
100

TP delay [ns]

TVC(c,b,ch)=( 0,

7,8

T nuz51ze+09 / 25

p1

3879+ 0.0
0.306 + 0.000

50

1
100

TP dela¥ [ns]

~ — 2920 NO Tnelah

TVC(C' b, Ch):( 0, x7l,uu]|-241:werog 125
- - 387900
p1 0.2125 + 0.0002
" P -
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(0

7,1

1
X

p1

Zamwoe 125
3881+ 0.0
0.2515 + 0.0002

50

1
100

C = -3976.49 TRslehy [ns]

TVC(c,b,ch)=(0, 7,5

p1

| Zoo1e+09/25
3893+ 0.0
0.2062 + 0.0002

AnrmA A

1
100

TP d‘ellay [ns]

TVC(c,b,ch)=(0,7,9)
= T X~ nar z.aure+09/25
" 3873+ 0.0
pl 0.2732 + 0.0002
1 - 1
50 100
N — 2N 21 -¥53,£%€¥§3¥ [f]S]
TVC(c,b,ch)=(0, 7, 13)
— ; X-inu Zsooer09/25
= 3889+ 0.0
p1 0.2124 + 0.0002
M - PR B
50 100
A~ ane am iR delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

2000

TVC(c,b,ch)=(0, 7, 2)
T X

pL

w 2.539e+09 /25
3879+ 0.0
0.2837 £ 0.0002

50

1
100

C = -3525.17 TBsleky [ns]

TVC(c,b,ch)=(0, 7

7 nar

, 6

e
p1

5.ca0e+08/ 25
3891 0.0
0.5339 + 0.0002

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 7, 10

3116409125
3884+ 0.0
0.2256 + 0.0002

TVC(c,b,ch)=(0,

1
100

TP delay [ns]

7,14

3000

A~ 1 nuiza41e+09 / 25
» 3902+ 0.0
pl 0.176 + 0.000

PR
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(0, 7, 3)

p:

1

2016709/ 25
3888+ 0.0
0.2392 + 0.0002

L
50

1
100

e = .a181 14 TRIERY [ns]

TVC(c,b,ch)=(0,

7,7

-1 nu 383e+U9 / 25

pl

3882+ 0.0
0.241+ 0.000

1
100

TP delay [ns]

TVC(c,b,ch)=(0,

7,

11)

P

1

Zare+09125
3881+ 0.0
0.2301+ 0.0002

T 1
50 100
TP dela¥ [ns]
N — A28 2N Tnelak

TVC(c,b,ch)=( 0, 7, 15

S

p:

1

)ume'oe 125
3895+ 0.0
0.1799 + 0.0002

PR
100

TP delay [ns]



TVC(c,b,ch)=(0, 8,0 TVC(c,b,ch)=(0,8,1) TVC(c,b,ch)=(0, 8, 2 TVC(c,b,ch)=(0, 8, 3)
T * T X T * T X

SRl 23«35709/25 AL c.420ev09/25 SRAL 2~a<cv09/25 - oan c.4cer09 /25
4000 k5, 4000 k&, 4000 k5, 4000 E,

i 3884+ 0.0 3885+ 0.0 3888+ 0.0 3890+ 0.0
pl 0.3346 £ 0.0002 pl 0.2197 £ 0.0002 [ pl 0.2456 £ 0.0002 pl 0.2611+ 0.0002

3000 = 3000 - 3000 |- = 3000 |- -

- - - -
2000 = =1 2000 |- - 2000 - - 2000 =
- - 3 - 1 -
1 1 1 1 1 1 _L 1
50 100 50 100 50 100 50 100
TP deIaY [ns] TP delay [ns] TP delay [ns] TP delay [ns]
~ ANOO N Taalal —_ o~ —— aa " D ~ AAAA A~ T _ 11

TVC(c,b,ch)=(0, 8, 5 TVC(c,b,ch)=( 0, 8, 6 TVC(c,b,ch)=(0, 8, 7

TVC(c,b,ch)=(0, 8, 4

4000 4000 5 4000 4000 [
3888+ 0.0 3892x 0.0 3891+ 0.0 ™t 3889+ 0.0
p1 0.2817 £ 0.0002 pL 0.1959 £ 0.0002 I p1 0.2281¢ 0.0002 p1 0.2269 £ 0.0002
3500 |- - : :
3000~ - E 3000 - . 3000 - - 3000 [ - E
2500 - - L 4
2000~ - 2000 - - 2000~ 1 2000 - -
" I L " I L " I 1 " I
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 0, 8, 8) TVC(c,b,ch)=(0, 8, 9) TVC(c,b,ch)=( 0, 8, 10) TVC(c,b,ch)=(0, 8, 11)
X~ 115/ 1e+09 / 25 X-inu Zascer09/25 X~ inur Zissoer09 /25 X-onu 24s1e+09/25
4000 [, L 4000 T 4000 [, L 4000 k&, L
= 3886+ 0.0 3897+ 0.0 r 3802 0.0 v 3894+ 0.0
p1 0.22+ 0.00 pL 0.1688 + 0.0002 r pL 0.11272 0.0002 pL 0.2089  0.0002
3000~ - — 3000 - 4 3000 - - 3000 - -
2000~ -1 2000 |~ - 2000 [~ N 2000 1
" 1 L " I [ " I ] T I
0 50 100 50 100 0 50 100 50 100
TVC(c,b,ch)=( 0, 8, 12) TVC(c,b,ch)=( 0, 8, 13) TVC(c,b,ch)=( 0, 8, 14) TVC(c,b,ch)=( 0, 8, 15)
- . Xl 16008125 . X~ i Zoaien08125 . X1 Covaen08125 . X-inor Ceozen08125
4000 3894+ 0.0 4000 [, = 3908+ 0.0 4000, 3904+ 0.0 4000 |5, = 3908+ 0.0
p1 0.2253 £ 0.0002 p1 0.2079 + 0.0002 I pl 0.2438 + 0.0002 p1 0.2218 + 0.0002
3000 - 1 3000 - 3000 N 3000 -1
2000~ E 2000 [ = 2000~ T 2000 [ E
PP SN P S B PP SR P TS B
50 100 50 00 50 100 50 00

~ — _anaq 2a TRy [ns] ~ _ s0na ca TRIElRY [ns] e = 2101 74 TRARRY [ns] A acnn an P delay [ns]



TVC(c,b,ch)=(0, 9, 0
T X

S Zﬂ‘d\:evog 125
= 3873+ 0.0
p1 0.2031+ 0.0002

4000 =
3000 - -
2000 - -
1 - 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0,9, 4)
e % W_‘og 73
4000 F T
o 3864+ 0.0
pl 0.2283 + 0.0002
3000 - -1
2000~ -1
1 - 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 9, 8)
o _‘09 53
4000 F T
3871+ 0.0
p1 0.2011+ 0.0002
3000 - -
2000 - -
1 - 1
0 50 100
TP delay [ns]
TVC(c,b,ch)=(0, 9, 12)
X-rna Zeurer09/25
4000 F T
3878+ 0.0
p1 0.1707 £ 0.0002
3000 [~ - T
2000 = -1
n n n n 1 - n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3500

3000

2500

2000

TVC(c,b,ch)=( 0, 9, 1
T X

S 2.eoev09/25
3856+ 0.0
p1 0.3143 £ 0.0002

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 9, 5

24406409/ 25
= 3872+ 0.0
pL 0.1793 + 0.0002

1
50 100

771:P d_el_ay [ns]

TVC(c,b,ch)=(0, 9,9

- nar z.croe+09/25
™ 3860+ 0.0
pL 0.2025 + 0.0002

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 13

X~ A)J(oeroe 125
™ 3880+ 0.0
pl 0.2012 + 0.0002

PR B

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 9, 2
T X

S 2 250708125
™ 3874£0.0
p1 0.4632 £ 0.0002

4000 =
3000 -1
2000 - -
L - | ]
50 100
A~ n1ca na IRIZRY NS]
TVC(c,b,ch)=( 0, 9, 6 )
1000F . X" iz ér1e09 /25
N » 3859+ 0.0
| pl 0.319 + 0.000
3000 - -1
2000 -1
L L - | ]
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 9, 10)
X-ina lovoen08125
4000 F T
I r 3875 0.0
pL 0.1826 + 0.0002
3000 - - -
2000 - -
L " I
0 50 100
TP delay [ns]
TVC(c,b,ch)=( 0, 9, 14)
X1 lusoen08125
4000 F T
3867+ 0.0
[ p1 0.2689 + 0.0002
3500 :— —:
3000 — - —
2500 :— —:
2000 E
. ...y,
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=( 0, 9, 3
T X

Srnu 24sev09/25
3865+ 0.0
pL 0.2255 + 0.0002

_L 1
50 100

TP d_el_ay [ns]

TVC(c,b,ch)=(0, 9, 7

ar 2.4v5e+09 /25
e 3873+ 0.0
pL 0.1878 + 0.0002

1
50 100

~ = _R221 1R‘FE:¢/§IE¥ [nS]

TVC(c,b,ch)=(0, 9, 11

1 25100409125
™ 3864+ 0.0
p1 0.1966 + 0.0002

1
50 100

TVC(c,b,ch)=( 0, 9, 15

Tz 313e+u9 / 25
P 3889+ 0.0
pl 0.229 + 0.000

PP B S

1
50 100

TP delay [ns]



4000

3500

3000

2500

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=( 0, 10, 0)
T X

o hocaet09125
3910+ 0.0
p1 0.1942 £ 0.0002

TP delay [ns]

TVC(c,b,ch)=(0, 10, 4

i Lawoer09 /25
3894+ 0.0
p1 0.2383 + 0.0002

1
50 100

~ - _A10R QR-'ITVF\)ch?\lﬁ¥ [ns]

TVC(c,b,ch)=(0, 10, 8

ur Z1ure+09/25
3874+ 0.0
p1 0.3035 + 0.0002

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 10, 12)

o d1oet09125
3903+ 0.0
p1 0.2334 £ 0.0002

PR IS SR B
50 100

TP deIaY [ns]

A~ — ANO0ACA Manlal

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=( 0, 10, 1
T

X

1T Laaae09125
3905+ 0.0
p1 0.2519 + 0.0002

TP delay [ns]

TVC(c,b,ch)=(0, 10, 5

o Lasve+09 /25
3887+ 0.0
pL 0.2678 + 0.0002

1
50 100

¢ = -3733 73 TR&RAY [nsl

TVC(c,b,ch)=(0, 10, 9

X~ Zaarer09125
™ 3893+ 0.0
p1 0.2068 + 0.0002

1 - 1
50 100
TP dela¥ [ns]
N — 210212 2K Tnelak

TVC(c,b,ch)=( 0, 10, 13

Xz ‘.)uerog 125
™ 3907+ 0.0
pl 0.2213 + 0.0002

PR RS
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 10, 2
T x

a ‘)mawog 125
3906+ 0.0
p1 0.2675 + 0.0002

4000
3000~ - -
2000~ -
. 1
50 100
TP delay [ns]
TVC(c,b,ch)=( 0, 10, 6 )
X7 1 nuzs6be+09 / 25
4000 5 T
L 3895+ 0.0
pl 0.213 + 0.000
3000~ -
2000 |~ -
" 1
50 100
~ — _ARQOR ?E-Fvegl?‘lﬁ¥ [ns]
TVC(c,b,ch)=( 0, 10, 10)
— . X~ inu 2.300e+09/25
4000 = 3890£ 0.0
pL 01954 + 0.0002
3000 [~ - -1
2000~ -
" 1
0 50 100
~_ raiorrc I\Egel,l.qy [ns]
TVC(c,b,ch)=( 0, 10, 14 )
. X~ inu 2.B0ve+09/25
4000 . 3905 0.0
I p1 0.1763 + 0.0002
3000 - -
2000~ -1

P R T
50 100

TP dela){ [ns]
N — Ea79 228 Tnelnh

4000

3000

2000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=( 0, 10, 3)
T xo

w 241ev09/25
3899+ 0.0
p1 0.3771+ 0.0002

_L 1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 10, 7

1 zaver09/25
= 3901+ 0.0
pL 0.2096 + 0.0002

1
50 100

= _N"771 QR‘FE:‘E‘E\IE¥ [nS]

TVC(c,b,ch)=(0, 10, 11)

ar 2.104e+09/25
3883+ 0.0
pL 02522 + 0.0002

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 10, 15)

S rnu daoer09125
= 3896+ 0.0
pl 0.2506 + 0.0002

L

P
50 100

~ —_.2001 11 FI;'\Pcﬁ‘q‘l\?y [nS]



TVC(c,b,ch)=(0, 11, 0
T X

-

P f)mevog 125
3852+ 0.0
0.2712 £ 0.0002

4000
p1
3000 - 4
2000 - _
1 - 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 11, 4)
4000 T X 1 nar 2.1v2e+09 / 25
3858+ 0.0
pl 0.2168 + 0.0002
3500 | .
3000 - - ]
2500 ]
2000 - ]
" 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 11, 8)
4000 T X~ inar zaaver09/25
L 3858+ 0.0
pl 0.2084 + 0.0002
3000 - - _
2000 - i
" 1
0 50 00
TP delay [ns]
TVC(c,b,ch)=(0, 11, 12)
X~ rnan c.ad4er09 /25
4000 5 T
3868+ 0.0
pl 0.2269 + 0.0002
3000~ - 4
2000 = _
A B T
50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3500

3000

2500

2000

4000

3000

2000

TVC(c,b,ch)=(0, 11, 1
T X

- ra

- 20;.3'09 125
3839+ 0.0
0.2438 + 0.0002

pl
1 - 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 11,5) .
— : X~ inar  zasae+09/25
;1 0.1848 + 0;)002
1 - 1
50 100
TP delay [ns]

TVC(c,b,ch)=(0, 11,9

- rnar

Z.sae+09 /25
3859+ 0.0
0.1782 + 0.0002

pL
1 - 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 11, 13) —
. 3860+ 0.0
p1 0.2366 + 0.0002
I R
TP delay [ns]

4000

TVC(c,b,ch)=(0,

11,2)

x-

3000

2000

p1

1 nugnsre+u9 / 25
3858+ 0.0
0.226 + 0.000

4000

TVC(c,b,ch)=(0, 1

1
100

P d_elay [ns]

1,6

3000

2000

p1

inar Zswer09/25
3871£ 0.0
0.2085 + 0.0002

4000

A=A~

TVC(c,b,ch)=(0, 11,

1
100

Lg d'ellay [ns]

10

3500

3000

2500

2000

p1

r 201eer09125
3849+ 0.0
0.1702 + 0.0002

o

TVC(c,b,ch)=( 0, 11,

1
100

TP delay [ns]

4000

14)

3000

2000

p1

w caloer09/25
3870+ 0.0
0.2067 + 0.0002

AnAA A

1
100

TP delay [ns]

4000

3000

2000

4000

3500

3000

2500

2000

4000

3000

2000

4000

3000

2000

TVC(c,b,ch)=(0, 11, 3) —
T X-rnur cauoer09/
pl 0.2113+ u.:muz
_1 - 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 11,7)
_ . Pyt A Sy
T s omor
1 - 1
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 11, 11) —
. » 3853+ 0.0
pl 0.1988 + 0.0002
1 - 1
50 100
TP delay [ns]
_TVC(C’b’Ch):( 0' )(J:;n'u\l§m?ue'09125
. " 3871+ 0.0
p1 0.2178 £ 0.0002
R B
TP delay [ns]



TVC(c,b,ch)=( 0, 12,
T xorm

3)

400609/ 25

TVC(c,b,ch)=( 0, 12, 0) TVC(c,b,ch)=(0, 12, 1) TVC(c,b,ch)=( 0, 12, 2)
o T e T e e Rl [N
pL 0.2288 + 0.0002 pl 0.263+ 1;060 pL 0.1924 + 0.0002 pl 0.2163 + 0.0002
3000~ - 30001 N 3000~ — 3000 -
2000} 4 200017 T 2000} ] 2000k |
1 - 1 1 - 1 1 - 1 _L - 1
50 100 50 00 50 100 50 00
) ~ TPdelay[ns] C =-3802.75TBsteRy [ns] ~ - &1aa 71 TRIZRY [ns] ~ — _aan2 e TRYZRY ]
TVC(c,b,ch)=(0, 12, 4) TVC(c,b,ch)=(0, 12,5) TVC(c,b,ch)=(0, 12, 6) TVC(c,b,ch)=(0, 12, 7)
1000 E : X- 1 iaizs! mwm‘ 1000 E : X rnar AWMM‘ 1000 E : X 1 nan zuuevm‘ 1000 E : X 1 nan MM*M‘
L 3885+ 0.0 - 3875+ 0.0 e 3876+ 0.0 - 38841 0.0
pl 0.224 + 0.000 pl 0.2604 + 0.0002 I pl 0.2338 + 0.0002 pl 0.2646 + 0.0002
3000~ B 3000~ b 3000 = B 3000 T
2000~ b 2000~ N 2000 - — 2000 - B
1 - 1 1 - 1 1 - 1 1 - 1
50 100 50 00 50 100 50 100
C = -4463.60 TBsteRy [ns] C = -3840.24 TBSIeAY [Nl C = -4277 46 TRERAY [ns] c = 2770 an TRERRY ]
TVC(c,b,ch)=( 0, 12, 8) TVC(c,b,ch)=( 0, 12, 9) TVC(c,b,ch)=( 0, 12, 10) TVC(c,b,ch)=( 0, 12, 11)
2000 . X-rnur Za11e+09/25 2000 , X 1 nar 2.546+09/ 25 1000 . X~ rnur 2.215e+09 /25 2000 F . X-snu 2.s50e+09/25
s 3875+ 0.0 ™ 3875+ 0.0 3875+ 0.0 ™ 3878+ 0.0
p1 0.1868 + 0.0002 pl 0.2097 + 0.0002 p1 0.2248 + 0.0002 pl 0.1915 + 0.0002
3000~ T 3000~ - 3000 . — 3000 . —
2000 = B 2000 [~ N 2000 — 2000 - b
1 - 1 1 - 1 [ 1 - 1 L - 1
0 50 100 50 00 0 50 100 50 00
= -KR3R?2 1Q-FﬁQdFr‘|ﬁ¥ [ns] - _N7RQ OQ‘FEcdﬁ‘IE¥ [nS] ~ — AAA0 rD-I;EPI?\IEY [ns] ~ - FANa ra TE,E’E.IE¥ [nS]
TVC(c,b,ch)=( 0, 12, 12) TVC(c,b,ch)=( 0, 12, 13) TVC(c,b,ch)=( 0, 12, 14) TVC(c,b,ch)=( 0, 12, 15)
- . X-rnur c.oaaer09 /25 = . X-rnu 2.305e+09/25 — . X-rnur c.liver09/25 - . X-nu 2.34ver09/25
4000 3873+ 0.0 4000 e 3878+ 0.0 4000 s 3882+ 0.0 4000 3866+ 0.0
p1 0.2374 £ 0.0002 p1 0.2107 + 0.0002 [ pl 0.2574 £ 0.0002 p1 0.2735 £ 0.0002
3000~ B 3000 - - 3000 - —- 3000 [~ - 1
2000 - . 2000 [ 1 2000 - - 2000~ N
1 - P L1 - P [ P - P
50 100 50 00 50 100 50 00
'[P dlellay [ns] TP delay [ns] 'I:P dlella¥ [ns]

TP delay [ns]

A=A 2



4000

3000

2000

4000

3000

2000

4000

3500

3000

2500

2000

4000

3500

3000

2500

2000

TVC(c,b,ch)=( 0, 13,0)
T X

u oaver09 /25
3892+ 0.0
p1 0.1782 £ 0.0002

~ —raa AR

1
100

TP delay ns]

TVC(c,b,ch)=(0, 13, 4

ar  Zoore+09/25
= 3906+ 0.0
p1 0.1957 + 0.0002

50

1
100

= _51na 52 TA&RRY [ns]

TVC(c,b,ch)=(0, 13, 8

1 2.20e+09/25
3923+ 0.0
p1 0.2414 £ 0.0002

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 13, 12

23006109125
3894+ 0.0
p1 0.1714 £ 0.0002

PR
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

4000

3500

3000

2500

2000

4000

3000

2000

TVC(c,b,ch)=( 0, 13, 1
T

X )aw.,foe/zs
o 3890+ 0.0
p1 02217 £ 00002

1
50 100

C = -4500 87 TRIRAY [ns]

TVC(c,b,ch)=(0, 13,5)

n <.390e+09 / 25
[—— T B pp— 3360+ 0.0

pL 0.6247 + 0.0002

1
50 100

e = -1a0n ga TRIZRY [ns]

TVC(c,b,ch)=(0, 13,9

3928+ 0.0

T nuiz 114e+09 / 25
pl 0.209 + 0.000

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 13, 13

Xz :2105«’09 125
™ 3896+ 0.0
pl 0.1951+ 0.0002

PR RS
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 13, 2
T x!

nu ‘2.4,5?09/25
3893+ 0.0
p1 0.2062 £ 0.0002

4000 k5,
3000 - -
2000~ -
. L
50 100
TP delay [ns]
TVC(c,b,ch)=( 0, 13, 6)
: X inar Zosaer09125
H000 39002 0.0
p1 0.2008 + 0.0002
3000 - -1
2000 -1
" 1
50 100
~ — _/10Q1 1ﬁ:-'|:vF:cdlg‘lﬁ¥ [nS]
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